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phonon noise APy, = (4kT?GI)Y2 Johnson noise AVJ= (4kTR)V2
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0000000000000 00DO00O00DOD (2.103)00
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46218 1 2(1 — p—(2n+1) % 2
£(0:a,6,n) = (ﬁ <1+a( o )> ) (2.114)

0000000000 260000000000 7T/T3~1.100000¢000000O0

6-¢ 6-¢

£(a=100b=3n=4) —— ‘ AT ey = ——
28 J\ £(a=100,0=3,n=4) -------- oo T
09 \

26 t

24 1 08

0.7 14

0.6

&ds
® N
&ds

16 05

14
04
12 o

1 11 12 13 14 15 1 105 11 115 12 125 13 135 14 145 15
=TT, 6=TITg

026:€00=T/T,0000: =100 O: «=1000.
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2.6.1 dc-SQUID
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2.6.2 Flux-locked loop(FLL)

SQUIDOCOO0ODOOUOD0OOU0DOUODOOU0DO0OO0U0ODOUODOODOUDOoUODOoOoooooOoon
gooboooooooooobooouooobooooooooooboooooooooooo
0000000000000 0oooooooooooooo SQUIbDODoOOOoOoOooooooago
goddooooooooboooooooonboonn (FLL: Flux—LOCkedLOOp)DDDDDD
SQUIDOCOOO00O0OO0OO0O00D0OO0O00Ooooo SQUIbOOOoOooooooooooooooo
DDDDDDDDD(D 2.9)DD|:|D|:|DD|:|[| bO0O
®pg My
Vout  Rrg
000000000 Reg000000OC0O0OOD MpgOODOOOOOOOOODO SQUIDOOOO

goopooogooooo
éSQUIDbias

ulD >— integrator o Vout

b= (2.119)

input coil §

back
00||

AVAYAY

Y vya RFB

O 2.9: Flux-locked loop

2.6.3 SQUID 00O

SQUIDDODOUOOO SQUIDOOODODOUO0DODOOOOU0OODOOOOoooooooooooo
goooobooooboboobobooobooobooboboobbooobooboboobboboboboo
000D 4, 000000 pA/vVHzOOOODOOO SQUIDODODOOOOODOOODOOO

in |?

NEP? —
St

(2.120)

readout —




0 20 TESOOOOOOOOOOOOOOOO 27

0000ooosSQUIDOO0O0DOO0O0O0D0OL0O0OUDO0ODO0OD0OD0OUDDOODOOODO S;00 (2.56)
googo

1
o0 4df 2
AEsqup = 235 </ ) (2.121)
0 NEP?eadout (f)
1
_ ggskot i/ D2 Tot (2.122)
0
Lo+1
_ o0ty (2.123)

0000000000000 0O0OOO b0 b=-WKOOOOOOOOOOO (2.123)000000
0000000000000 (Ly>> 10

AEsquip ~  2.35in\/b*Test (2.124)

goon



0 20 TESOOOOOOOOOOOOOOOO

27 0O0O0OO0OODOOOODOODOODOO

gooogooooobbboboboooooooooboo
gobbooooboboboooobooooooooboo
goboooboooboobboobooobooboboon
go0o00o0oboo0oboooobooog 2100000000
TESOOOODDODODODODOOODOODDODOODOOOoOoooOo
O0000o00ooooooog TESODOOooooood
goboobooboboobboobobobboooboboon
gooobooboboooboobuooboobooo
goboobbooobooobboobbooooboooo
oooobooboboobuoooobooboboooo

28

)

—~ TES

o ammeter

shunt
resistor

0 210: 0000C0OD0O0OO

02100000000000000000000000D00000000O0O000O0ODO0O0O0O0 Iy

oooo
R
— Ji 2.125
R+ R " (2.125)
P =I*R(I) (2.126)
00000000000 O000 (241)00 (242) 00000
51 I
SE S TS (2.127)
R(1+%)
5P R
— = WK(1-= 2.128
o1 b( R) (2.128)
ooooo0O0O000oO
O0O00D0D0000000 211000000000000
A(w)
- mmmmmm T }
|
| 1 AL | ORI AR | !
ap < i' G(1+iww) T R (1+R¢R) ! > Al
L )
-b
Vb (1-RYR) [«
0 211: 0000000000000 00000OOODOOOOOO
000000000 000000000D00D0ODOO0O00000
alﬁ) — & 1-— iy
Ly = —m—H =Lo—F (2.129)
GT 1+ % 1+%5
R, R
¥ o= 4/@—ﬁ:b@—ﬂ 2.130
b(1-T - (2:130)
0000000000000000000000000000 £,0¥ 0000
1 Ll 1
Sy = - 9 (2.131)

!/ . /
Vb<1—%)£0+11+“"7eff



0 20 TESOOOOOOOOOOOOOOOO 29

— 70
T = 1 (2.132)

0ooo
00000 (2108)0 €0 Lo 0 b00O00D00 (212900 (2.130) 000000

1+ %&)2 r

N I Gl - 2.133

¢ aly iy ( )
alo

00000000 (251)00 (252)000000000000000000O0O0O0OOO¢O00O0O0

AEcy = 2.35¢VkpT2C (2.134)

gogno
00SQUIDOOD0OO0D0O0OO0DOOO0DOO0ODD (2.123) 00000000000 (2.130)00
000 00000000000 (2129 00000000O0OOOODOODO

(=) (1)
Lo

AESQUID =2.35 Vb’lln\/’reff (2135)

googog



gotg

3.1 0O0O4OOO

00000 TESOODODOOOO0OOO SQUIDOODODOOOUOOO OXFORDOOOOOOOO Kelvi-
nox250 (0 3.1)0000000D00000O0O0 OO 124emO00 39.4cm 0000000 3He O
‘HeDOOOOOOOOOODDODOODOOOOOOOOOOOOODOOOO 25 y)WOOODOODOO
0000000000 O ~>50mKOOODODOOOOOOO HeOSK0LOOOODOOOODOOO
004800000000

0 320 IvCOOOOOOOODO Mixing Chamber(M/C) O Experimental Plate(E/P) OO
ooooooo (RuO)0D0OO0ODODODOODOOD E/PODOOCDOO M/COOO0DOOOO
gooooodoobooo ~0lmKOOOOOOOOOODOOOODOOUOODOOOODOOOO
0 Picowatto OO0 0OAVS47/TS-5300 DOOO0O0OOO

gooooobbobobbbbobbooboboooooooobobobobbbbbbbobbooogo
go0000O0ob00ob0o0bO0o0obObO0o0obU0o0oDbOO 20000000D00D00O0O0O 12004
0000000000000 00000O0000DO00O0O00OO ~230Q000000000 (~4K)
O~180Q0000

Chacloal

LIFTING SLIDING Sorb heater
FRAME SEAL

1.5K Pot

SLIDING '
SEAL TUBE 1.5K Pot Rqu:
[

Still Heater
OVC = ,/“ :

MAIN o
BATH 15K fR>—IL K

Still

1 Heat Exchanger

124 cm

IvC

™~ Mixing Chamber .

v E.P RUO2
“+—— 394 cm—»

0310000000000 032 IvCcOoooooooo

30



30 oood 31

3.2 SQUID

O000o00ooo SQUIboOO (O 3.3)0 ‘HeOOOOOOODOOODOODDOOOOOOOOOO
0000000000 0000ooo0o00uoooooooOPH-506S000000000 SQUID
oooopbooog 3.1,0 3200000000

Citback Rfback

Rbias = 1.2KQ

FBACKRTN Rfback = 1KQ

FBACK
AMP RTN

BIAS RTN
BIAS
AMP

_— Cbias = 1000pH
Cfback = 100pH

Cin = 39000pH

Cbias Rbias INPUT RTN

033 0000SQUIDO0O0OOOOOoooogd

oooo I, 34 uA
00000000000 SQUID O
80 pH
000000000 : My,
AmpO000 568 [2] 000000000 SQUID O
Bias 00 O 1765 [Q] QLoO00O00O0 A 0.3 pH
FbackOOO 1560 [9] L 750000 V/A
fnput D00 | 12.23 [KQ 0000000000 5.3 pA/vVHz

031:0000008SQUIDODOOO
ooon

032 000000000000000 SQUIDOO
god

SQUIDD0000D00000000000 SQUIDOOO000000000000 0.5mmx0.5mm
000000000000000000000 SQUIDOOO SQUIDOOO00O0ONO000000DO
000000000000000000000000 SQUIDOO0O0O0NO NbOOODOOOOO

SQUIDOO00O000200000000000000000000S8SQUIDOOO000000O0
000000000000 0000AIO00000000 SQUIDOOOODO0ONbOOODODOD
0000 AlDDD00001.2K00923K00000000000

SQUID 0000000000000 O0DDO0000000000000O0O0ONONONONONONnngil
0080000000000 DO0000ONONNDNON000O0ONNDNDSQUIDOIONO0ONONONDODN
0000000000000000000000000000 SQUIDODO0000N00000 79
000039000 pHOOOODODOOO0OO0O0O0O000000000000000000000000
000D0DD0000000000 39000 pHOOOODODOOO TESOODDOO00000 XO0O0O00DO
000 (0 75000Hz) 000 00000000000000000000000000000 SQUID
0 Flux Locked Loop(2.6.2 0)0000000000000000000000000000 SQUID
000000000000000000000000000000000000000000000
000000 SQUIDOOODDNOO0O0ONNO0OO

00000000 SQUIDOOO0O0O0D0000000000000000 Slew Rate 010000
000000000000000000 ¢VOO0OO0O00O000000000

0 3.40 SQUIDOOODOO000O0O0DD00000O0 (0000000 [15000)000000
00000 ~1KOSQUIDNOOOODODOOOOO 60 Q000000000000000000
(286) 000000000000000000 ~0.96x 1072 pA/yHz000000000000



30 oood 32

000000000 SQUIDOODONOOOONOONON0ONONONOONONONONONDNOON SQUIDOOOO
00000 ~ 10 pA/VHzOOOODO 3200000000000 factor 1-2 000000000
000000000000 00000000000000000 SQUIDOOOO0OO00O 4, =
10pA/vVHzO0OOOOOOOOOODO

0000000 SQUIDODOOODONOONONONONODONONOONOD (000000000000 1/v2
000000)0~10kHzO0O00OO0OO0O0O00O0000000000000000

1
TSQUID = o o ~ 16 psec (3.1)
CU;
agooo
10 Power Spectrum of Calorimeter # 46
10
& 10 1 A in = 10 pA/Hz'?
I N
< i
) "
5. 12
210 x
W
™,
-13
10

3
1Prequency (Hz) 10

0 3.4: SQUIDOOOOOOOODO

3.3 0OOOO

0000000000000 0000000000O0000OooooOTDS 301200000000
00000000 Hewlett Packard 00 O FFTOOOOOO35670A0 000000000000

0000000000000 00000000000000000D00OD fleat 00O0OO0OOODO
0000000000 GPIBOOOOOOOOOOOOOO



0 40

obouooboboooonbd

00000000000 TESOD XOOOOOOOOOOOOOOOODOOOO (booo)oooo
go0d0ooodoooOoOoUoOooUOU0O0oOoOoOU0obOoOOoUUooooUOoDoOoOUbDo XOoooooo
gbooboboobgooboboobooobob

41 00000 (QO000)

4.1.1 0O

0000000000000 (00 : 0 41)0000000000O0O0O0O0OODOOOOOOODO
gbooobgobooobo

1.2mm

A
\/

S
E Ti-Au TES N wi
thickness wire
Ti=100 nm thickness=400 ; m
Au=40, 80 nm width=20 u m
\
* _»I |<_beam width=30u m
0 4.1: 000000000 o 11
=20 um n-type Si wafer
=200 um

042 0000000O0ODOOCOOO

000000000 420000000 1lmmx1lmm0O SiO0000000:40pum0O00:1.2mm
0 Ti-rAuOOOO0OO0O0OO0OD (TiD Au00O0O0O0O0O0O0OOD)D0ODODOODOOOO SiooOoo
012mmx30 um x20 pm 0 2000 (000)0000000000O00OO0DO0O0OODOOOODOO
goooo0DOoOoU0oOoU0 2000000000000 DODO0U0O0ODOUODO0OODOOODOOOO
gobooboooboobbooobooobooboooboobboooboboooboobboo
000000000000 00C000D0O0 200pemb2emO000000C0O0OO04000000
gbooobgoooan

00000 2000000000 (#46,#48)000000000000O00O0O0ODOO0OOO 4.20

33



U040 DOOOOO0O0oOoOOOOd 34

0000000000 TESOODOO Ti-AwOOOOOODOODODODOOODOOODOOODOD (O 4.1)0
O 420000000000D0OCO000DOOOOO0ODOOOOOO

oo
HE HE #46-B | #48-A
Si 1 mmx1 mm 20 pm
Ti 1.1 mmx40 pm 100 nm
Au 1.1 mmx40 pm 80 nm ‘ 40 nm
Si(0) | 1.2 mmx30 um (x20) 20 pm
Al (O) | 1.2 mmx20 pym (x20) 400 nm

041: 000000000000

| 00 | 000 [g/mol] | 4[mI/mol/K? | 00 plg/em®] | 000DD 6pK] | 0000 [K] |

Si 28 0 2.33 645 X
Ti 48 3.35 4.51 420 0.39
Au 197 0.689 19.28 165 X
Al 27 1.35 2.70 428 1.20

042 000000000OOC0O00ODOOCOO0ODOOO

4.1.2 0O0ODO

goboobooboobooobooboobboobooboooboobbooboOooobo
ooooboobobooob

god

0(22)~0 (24)00 41,0 42000000 T[K|0D0O0OO0O0DD0000000000000O
000 4300000000000 TiDOOODODO0D000000000000000000000

| oo 0000 ¢ J/ew®/K] | 0000 e[ J/em®/K] |
Si 6.03x1077 x T3 0
ooo Ti 2.47x1076 x T3 3.15x1074 x T
000 Ti 2.47x1076 x T3 1.12xexp(—604.8/T)
Au 4.23x107° x T3 6.74x1075 x T
Si (O0) 6.03x1077 x T 0
OO0 Al(O) 2.48x1076 x T3 1.35x1074 x T
OO0 Al(O) 2.48x1076 x T3 0.491 xexp(—616.3/T)

043: 000000000000

goodnD 4300 4100000000000D00ODODOODOD 440000000000 0ODO
2000000000000 00O0DO0T=02KOO0O00OO0OO0OO00ODODOOUODOOOOUOOOOO T
gogobobobooogooobooooooboooobooboboooobbbuoooboboobo



U040 DOOOOO0O0oOoOOOOd 35
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Pulse of Calorimeter # 46-B
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V = exp(A+ B x t) (5.7)
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datal63k290b 163 125 118 160
datal77k250 177 140 152 170
datal77k300 177 140 366 354

datal83k170-4ms 183 160 81.7 118
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A3 XOOOOO 3:120080 (D0 #46-BO0O0O0O O)

oooo AVSDO [mK] | LTCOO [mK] | 000000 [ev] [ 000 [ev] |
datal03k9v120-4ms 103 63 142 207
datal19k15v650-4ms 119 80 75.0 98.5
datal19k15v680-4ms 119 80 105 105
datal34k9v100-4ms 134 95 105 105
datal55k15v540-4ms 155 117 79.5 99.2
datal77k15v250-4ms 177 140 87.6 111

datal77k9v60-4ms 177 140 107 109
datal77k9v80-4ms 177 140 130 140
datal84k15v50-4ms 184 146 171 261

A4 XOOOOO 4:100250 (00 #48 - AQ ¥Fe 00)

oooo AVSO00 [mK] | LTCOO [mK] | 000000 [eV] | 00O [eV] |
data200k600-4mms 200 164 107 122
data200k900-4mns 200 164 130 141

data220k200 220 185 192 710
data220k500 220 185 129 134
data230k200 230 196 102 132
data230k500 230 196 118 123
data240k60 240 207 157 206
data240k70 240 207 170 215
data240k170 240 207 170 170
data240k300 240 207 185 190
data240k500 240 207 194 201
data240k700 240 207 195 180
data240k1000 240 207 307 302
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A5 XOOOOO 5:11080 (00 #48 - AD Cd 00)

oooo AVSOO [mK] | LTCOO [mK] | 000000 [eV] | 000 [eV] |
data240k9v900-4ms 240 207 272 409
data240k9v950-4ms 240 207 290 369
data260k9v880-4ms 260 229 258 366
data320k9v500-4ms 320 206 204 399
data320k9v600-4ms 320 296 377 496
data340k9v250-4ms 340 319 518 605
data340k9v350-4ms 340 319 508 581
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